tHES - Hatet 2

Az AL ofsfdte.

* Ax}sho] O
¢ AxskrE F8ate] ofF 7] EAIE AT 4 Sl
* AR 9] 7187 el 2r1ep)
e e, W o] 571 o
— LA y=ax+bol|A (7]27])= (22| =71eF) =3

¥ y=axth

¢ QAo aF e 4
- YA y=axr+09] Az
a>00]H,
Ao LB 9= it

a<0°o]H,
2| Ao] QB2F o & gt}

» »t

o]
oy
]
/
=y

/

Jim
0x
Log
K
N
Ph
Lo
o
Ol
oF
:
1153
i
Jon
10
ol
!
Hu



MICIK[7|(THEERS) e

1 cie zemo vigyl= 2wy 3 tigzy=Sot19 T2hmel 227

] O o7
10 8 8
§ 5
8 ) 4
6 ) )

14 / z

4 o 2747680 A7 1T 6 5 0>
; O] O @
27468 105 = . 8
g 5
4 4

2 2/

14 = x

] A S N 000 U R S D

®

10

8

6

4

2)

it z

0 2 4 6 8 10 7]

2 Ty o= B Sl T 4 J29| XIME 12T She YRfgkeol AZ ok
e = = 0|
s et st} 220 oloiz,
yl\ S
2
10
8
6
4
2
-3
0 2 4 6 8 10 7] a
L]

1) yEHL Gupl7?
O-1 ®1 B2 @3

2) 71871= guielzp?
1 1 2 3
@ 5 @ E} ® 3 @ 1

(3) LAkl A1 fofe.
Dy=gz+l @y=jz—1

@y ——1’+1 @Z/Z%x—l

@) susmizsEEy oeow e K



o =1=LAL ATH UREER: — 3RIA| YRFRISO| TJ2iZ(7127])
217197 |(AMEISHS)

1 clecole seblest 7l wol Avol o7t 48t D ISR FHIAR! FRl0ls XISKI0) A5 Mgt 27(K

E2 A= LIEKH J2fZ0|C}, 1037F A7t =2k | o] A7t CHEMo = FH[[SiCh= WS YT QlCh
201N S577EX| 761, 0] TJ2HEE LiEH= A2 Y O ZRte| £ AMiZnt Z7IMnte| 2AZt J2imet
Rt gl y=ax+20]|Ct O, a2 2427 Z= [ 0| 12| 7[E7[E +H5tH?
yA Y4
800
10 700
8 600
500
6 B 400,
/ 300
4 200
/‘ZA 100
- 0Amo 20 %
of 7274 6 8 10 x|
@ 800 © 400 ® 80
1 2 3 @ 40 ® 4
@ 5 @ 5 ® 5
4 3
® 5 © 10




